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� 3HQHOLWLDQ� LQL� GLODNXNDQ� XQWXN� PHQJHWDKXL� GDQ� PHQJDQDOLVLV� VLVWHP�
LQIRUPDVL� DNXQWDQVL� SHQ\HZDDQ� DODW�DODW� SHVWD� SDGD� 3HODPLQDQ� �� 6DXGDUD� VHUWD�
PHUDQFDQJNDQ� VLVWHP� LQIRUPDVL� DNXQWDQVL�SHQ\HZDDQ�SDGD�3HODPLQDQ�NDUHQD�GL�
3HODPLQDQ�LQL�EHOXP�WHUGDSDW�VLVWHP�\DQJ�EDLN��

3HQHOLWLDQ� LQL� PHUXSDNDQ� SHQHOLWLDQ� GHVNULSWLI�� 3HQHOLWLDQ� GLODNVDQDNDQ�
SDGD�3HODPLQDQ���6DXGDUD��\DQJ�EHUDODPDW�GL�-DODQ�3LODNXW�.RPS��7DELQJ�,QGDK�
57� ��� 5:� ��� .HO�� *XQXQJ� 6DULN� .HF�� .XUDQML� .RWD� 3DGDQJ�� 7HNQLN�
SHQJXPSXODQ� GDWD� GHQJDQ� FDUD� REVHUYDVL�� ZDZDQFDUD� GDQ� VWXGL� NHSXVWDNDDQ��
$QDOLVLV� GDWD� GLPXODL� GDUL� VLVWHP� GDQ� SURVHGXU� \DQJ� WHUNDLW� GHQJDQ� SHODNVDDQ�
SHQ\HZDDQ�DODW�DODW�SHVWD��
� 'DUL� KDVLO� SHQHOLWLDQ� \DQJ� GLODNXNDQ� PHQXQMXNNDQ� EDKZD� SURVHGXU�
SHQ\HZDDQ�DODW�DODW�SHVWD�EHOXP�HIHNWLI�GDQ�EHOXP�PHQJJXQDNDQ�GRNXPHQ� �GDQ�
FDWDWDQ�VLNOXV�DNXQWDQVL�\DQJ�EHQDU�KDO�LQL�GLVHEDENDQ�NDUHQD�NXUDQJQ\D�SURVHGXU�
SHQJHORODDQ�ELVQLV�3HODPLQDQ���6DXGDUD���


